Activity 2.6 — Integrals of Linear and Quadratic Functions

1.

9.

(@) 5x2+C
(b) 2t*+4t+C

(c) u—%u2 +C

(a) (5x2]f =5(2)% —=5(1)% =15

@ b-te], - (O-107)-(2-17)-3

(a) I(sz—x+7}jx:%x3—%x2+7x+c

(b) [(32-6w+w? fw=32w-3w? + Lw? +C

[Ca0 +8tydt = (ot + 412 E - (10(8) + 4(8)2)- 10(5) + 4(5)% )= 186 cows

(@ v(t)=-32t+16 ft/s
(b) s(t) =—16t2 +16t+175 ft

(c) Set —16t? +16t +175=0 and solve for t (using the quadratic formula) to get t = 3.84 s.
(d) v(3.84) =107 ft/s
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L =2 +1524224252).05=6.75; R, =(152+22+257+3).05=10.75,
Thatis, 6.75 < [’x?dx <10.75.
AX=(3-1)/8=0.25



